Bjarreds BK

Onsdag BBK 2022-11-09

Partavling, 9 bord, 17 par. Antal brickor: 22. Medel: 154.3. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 6 219.7 71.34 Rita Bergman - Marianne Fagerstrom 31385 14025 Bjarreds BK
2 16 177.7 57.71 Mats Carlsson - Lena Carlsson 26012 26011 Lomma BK
3 4 1709 55.48 Goran Lindqgvist - Rickard Olsson 64674 29718 Bjarreds BK
4 18 168.0 54.55 Kristina Kinnman Stark - Mailise Bjorsne 61975 34117 Bjarreds BK
5 15 166.6 54.09 Gunnar Jonsson - Siv J6nsson 64663 64664 Bjarreds BK
6 13 164.7 53.48 Johan Risberg - Catarina Risberg 35320 35319 Bjarreds BK
7 10 162.9 52.89 Margit Siberg - Karsten Willén 27463 6218 Bjarreds BK - Pri-Bri 1936
8 11 161.8 52.55 Siv Olsson - Gert Olsson 91083 91082 Bjarreds BK
9 14 158.6  51.48 Lennart Gottfridsson - Inger Nilsson 50428 26136 Bjarreds BK
10 17 153.7  49.89 Christina Westesson - Birgit Larsson 31384 91263 Bjarreds BK - Lomma BK
11 8 146.3  47.51  Christl Carlsson - Eva Schon 46804 48381 Lomma BK - Bjarreds BK
12 12 139.0 45.13 Bertil Martensson - Vivi Martensson 51341 51340 Bjarreds BK
13 1 138.3  44.90 Karl-Gustav Nilsson - Britt-Marie Langasen 64676 30768 Bjarreds BK
14 2 131.8 42.80 Bengt Holmberg - Ingrid Wrede 64662 64661 Bjarreds BK
15 5 127.0 41.24  Anita Hakansson - Britt Olofsson 81946 78920 Bjarreds BK
16 3 124.8  40.53 Ing-Mari Gustafsson - Ulla Sundberg 27767 61765 Bjarreds BK - BK Bridgehuset
17 9 110.7 35.95  Gudrun Nilsson - Gun Mansson 29193 85987 Bjarreds BK
1 & KDKn7 Basta kontrakt 2 & K984 Basta kontrakt 3 & EK108543 Basta kontrakt
Nord v KKn 54 N =450 Ost v K109 24 O =-90 Syd v Kn5 64 S D -2-300
Ingen ¢ EKKn953 NS + 1086 ov ¢ E
*E & ¢ v & NT »K82 & ¢ v & NT #Kn104 & ¢ v & NT
4 E5 4842 N5 116 117 4 EKNn75 4102 N57 766 4DKn96 &7 N 103 2 8 5
vE107652 v83 S 5 116 117 v 654 v DKn8 S57 766 v9874  vEKD62 S 103 2 8 5
+D7 +82 082723 ¢KDKn 732 0866 77 +8 ¢ KDKn7652 O 2 10114 6
«D82 #K109764 VvV 8 2 7 2 3 #975 #ED1064 V86677 D763  &- V 2 10114 6
410963 « D63 a2
vD94 vE732 v 103
+ 1064 ¢ E954 410943
#Kn53 #Kn3 #EK9852
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
18 10 44 N= ¢8 420 140 00| 5 3 Pass 80 60| 6 4 66DO-2 #A 500 140 0.0
17 2 2NN+2 &4 180 120 20| 8 13 Pass 80 6.0|15 10 6vDV-1 4K 200 11.0 3.0
5 3 3¢S+2 &A 150 50 90|12 1 Pass 80 60|17 3 44 0-2 42 200 11.0 3.0
8 13 3¢ S+2 aA 150 50 90|14 6 Pass 80 60| 9 13 34 N= vA 140 8.0 6.0
9 15 3¢ S+2 A 150 50 9.0(16 11 Pass 80 60| 5 8 44N-1 vA -50 6.0 8.0
12 1 3¢ S+2 «A 150 50 9.0(17 2 Pass 80 6.0(18 11 4¢ O= *A -130 4.0 10.0
14 6 2¢ S+3 sA 150 50 9.0(|18 10 Pass 80 60| 1 16 54 N-3 vA -150 2.0 12.0
16 11 3¢ S+2 vA 150 50 90| 9 15 240+= ¢ A -90 0.0 140(|12 2 564 O= a2 -600 0.0 14.0
4 - 8.1 4 - 8.1 - 14 7.6
4 & KKn42 Basta kontrakt 5 D43 Basta kontrakt 6 46 Basta kontrakt
Vast v K92 3¢ N =110 Nord v42 3v N =140 Ost v Kn5 34 S =110
Alla ¢ KKn5 NS ¢ 7643 ov + K1072
#KD8 & ¢ v & NT #DKn32 & ¢ v & NT #KDKn1064 & ¢ v & NT
49863 4ED75 N59557 4K109 4Kn862 N 6 109 6 7 41082 4EKn975 N9 4756
vEKn74 vD63 S59557 vD106 v73 S 6 109 7 8 vED76 vK10 S94656
¢ 107 +82 07 4785 +KD8 109 07 3465 ¢+ D53 ¢ Kn9864 048687
#Kn94  &#E1073 V74785 #K1098 #E7654 V734675 #E53 &9 V486187
410 4 E75 4 KD43
v 1085 v EKKn985 v 98432
+ ED9643 ¢ EKn52 +E
%652 *- *872
Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
18 11 3NN+1 &7 630 140 00| 6 9 3vS+1 &8 170 140 00| 6 9 3¢0-1 8 100 120 2.0
15 10 2NN+2 45 180 120 20|16 2 44V-3 v4 150 120 20|13 10 34 O-1 ¢A 100 12.0 2.0
6 4 INN+2 ¢8 150 9.0 50|11 15 1v S+2 &T 140 80 60(18 1 240-1 ¢A 100 12.0 2.0
12 2 INN+2 &5 150 90 50|12 3 2¢vS+1 &9 140 80 60|16 2 24N= *9 90 8.0 6.0
5 8 2¢ S+2 9 130 6.0 80|18 1 3vS= 8 140 80 60|11 15 34 N-1 vT -50 50 9.0
9 13 3¢ S= vA 110 4.0 100| 8 14 14 O- vA 50 30 11.0|12 3 44 N-1 vK -50 50 9.0
17 3 2v V-1 42 100 20 12013 10 24 O-1 vA 50 3.0 110 4 17 34 O= ¢ A -140 1.0 13.0
1 16 3NN-1 a7 -100 0.0 140| 4 17 4v S-1 8 -100 0.0 14.0( 8 14 24 O+1 ¢A -140 1.0 13.0
- 14 76| - 5 55| - 5 55
7 & EK32 Bésta kontrakt 8 4 Kn6 Bésta kontrakt 9 4 EDKn743 Bésta kontrakt
Syd v K82 3v V =-140 Vast vE8 5NT V =-460 Nord vE6 54 N =450
Alla + EDKn10 Ingen + Kn1097 ov +8
D4 & ¢ v & NT #D10765 & ¢ v & NT #EKn82 & ¢ v & NT
475 41096 N37 487 41092 4ED N53252 4109 4 K85 N 7 11101110
v 96 vED10743 S 3 7 4 8 7 vK104 vDKn72 S53252 vKD93 v7 S 7 11101110
¢+ K8764 ¢ - 096 955 ¢+ D543 ¢+ EK86 O 8 10108 11 4 965 ¢ Kn1043 06 2323
#Kn863 #EK105 V 106 9 5 6 #E93 &K84 V 8 10108 11 #K1054 #D9763 V62223
# DKn84 & K87543 462
v Kn5 v 9653 v Kn108542
49532 2 ¢ EKD72
%972 #Kn2 ®-
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 11 3v O-1 «Q 100 140 00|17 5 2¢ O= a7 90 140 00|12 5 44 N+1 v7 450 140 0.0
1 15 2NN-1 +K -100 100 4.0|13 11 3NV= *5 -400 110 3.0| 4 16 3NN+1 &7 430 12.0 2.0
12 4 4e4 N-1 *A -100 100 40|14 9 3NO= a4 -400 110 3.0| 6 17 44 N= v7 420 8.0 6.0
18 2 44 N-1 *A -100 100 4.0|18 2 4vO= 2 -420 80 6.0| 8 11 4vS= 4 420 8.0 6.0
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8 6 3v0O= 8 -140 50 90| 1 15 3NO+1 43 -430 30 11.0(13 1 44 N= v7 420 8.0 6.0
17 5 2vO+1 9 -140 50 90| 3 16 BNO+1 45 -430 3.0 11.0|15 2 34 N+2 &3 200 4.0 10.0
3 16 44 N-2 *A -200 10 13.0| 8 6 3NO+1 &3 -430 3.0 11.0| 3 18 24 N+2 &6 170 2.0 12.0
14 9 44 N-2 *A -200 1.0 13.0|12 4 3NO+1 &7 -430 3.0 11.0(14 10 44 N-1 v7 -50 0.0 14.0
- 10 80| - 10 80 9 - 4.9
10 4 EKn75 Basta kontrakt 11 4 KD1054 Basta kontrakt 12 4 D10973 Basta kontrakt
Ost v54 5¢ SD-1-200 Syd vE2 5& V =-400 Vast v 108 6¢ V =-920
Alla 49743 Ingen + Kn10986 NS + D10
»1074 % ¢ v & NT »8 & ¢ v & NT #Kn1075 & ¢ v & NT
«K1086 4D32 N 8 103 5 6 4E963 - N26 373 a2 28 N3 0384
vDKn987 v EK632 S 8 103 5 6 v 10864 v KKn5 S26373 vEK954 73 S30384
¢D ¢ E82 O3 3 107 6 +KD2 ¢E74 O 117 9 5 8 ¢+ EK852 ¢ 97643 O 1012105 7
#532 *98 V 3 3 107 6 *96 #EKKNn10542 VvV 117 9 5 8 *64 #EK932 V 1012105 7
494 &« Kn872 » EKKn654
v10 v D973 v DKn62
+ KKn1065 +53 ¢+ Kn
#EKDKnN6 +D73 +D8
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
6 17 4v O-1 «A 100 120 20|12 6 4+0-= a7 -130 120 20|13 2 34S-1 ¢ A -100 140 0.0
12 5 4v0O-1 «A 100 120 20|15 3 240+2 +¢5 -130 120 20| 9 1 44S-2 ¢ A -200 9.0 5.0
15 2 4v0-1 A 100 120 20|16 5 440-= ] -130 120 2.0|10 8 44 S-2 ¢ A -200 90 5.0
3 18 3vO= *A -140 70 70|10 8 44 0+1 a7 -150 50 90|15 3 44S-2 vA -200 9.0 5.0
8 11 3v O= *A -140 70 70|13 2 320+2 42 -150 50 90|16 5 34 N-2 v7 -200 9.0 5.0
4 16 3vy O+1 #A -170 20 12014 11 44 0+1 &) -150 50 90|12 6 5¢ V+1l 49 -420 2.0 12.0
13 1 3v O+l #A -170 20 120|118 4 3#0+2 v9 -150 50 90|14 11 5¢ V+1 43 -420 2.0 12.0
14 10 3v O+1 #A -170 20 120 9 1 44DN-3 +A -500 0.0 140|18 4 5¢ V+l1 4Q -420 2.0 12.0
9 - 4.9 - 17 74| - 17 7.4
13 4 EKD75 Basta kontrakt 14 4 D103 Basta kontrakt 15 D8 Basta kontrakt
Nord vD4 3NT O =-600 Ost v EK3 ANT N =430 Syd vE3 5v V =-450
Alla 41076 Ingen ¢ EK5 NS + Kn1032
#Kn54 & ¢ v & NT #E1092 & ¢ v &4 NT #KD872 % ¢ v & NT
«108 » Kn9632 N36 444 2985 4 KKn762 N 11108 8 10 « EK9742 4Knl0 N8 9 226
vE1063 vK85 S 36444 v8762 vDKn4 S 109 8 8 9 vKD2 vKn1098754 S 8 9 2 2 6
¢ KDKn9 ¢ - O 106 9 9 9 + 87 ¢ Kn932 023453 + D96 ¢E 04 4 11107
*K92 #ED863 V 106 8 9 9 #KD87 #6 V23453 *4 #Kn65 V 4 4 11107
a4 aE4 4653
v Kn972 v 1095 v6
+ E85432 + D1064 + K8754
*107 #Kn543 #E1093
Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
518 340-1 «4 100 140 00|10 2 3NN+2 42 460 120 20| 6 18 44 V-3 vA 150 14.0 0.0
11 9 2#0= a4 90 11.0 3.0({11 9 3NN+2 47 460 120 20|11 3 3#N= L) 110 120 2.0
13 3 2#0= a4 90 11.0 30|14 1 3NN+2 46 460 120 20|14 2 3aV= *2 -140 10.0 4.0
17 8 22 0+2 44 -130 80 6.0| 5 18 3NN= 6 400 6.0 80|15 5 34V+l &K -170 8.0 6.0
14 1 2NV +2  aA -180 6.0 80|15 4 3NN= ¢2 400 6.0 80| 8 12 4vO= *A -420 50 9.0
10 2 INS-2 +9 -200 40 100(16 6 3NN= «J 400 6.0 80|17 9 4v0O= *7 -420 50 9.0
15 4 3NO= v7 -600 10 13.0|17 8 2NN+2 46 180 20 120 1 10 4v O+1 #A -450 1.0 13.0
16 6 3NO= a4 -600 1.0 13.0|13 3 2NN+1 42 150 0.0 14013 4 4v O+1 #A -450 1.0 13.0
12 - 7.0 12 - 7.0 16 - 8.8
16 4 EDKn32 Basta kontrakt 17 a74 Basta kontrakt 18 4~ E98 Basta kontrakt
Vast vED6 44 N =420 Nord v K82 INTN =90 Ost v 976 44 O =-420
oV + KDKn5 Ingen 410732 NS +43
*E & ¢ v & NT #EK102 & ¢ v & NT #EKKn72 & ¢ v & NT
494 «K1076 N 9 116 109 465 » EKKNn98 N7 7767 +10 «KDKNn7642 N 9 4 3 2 6
vKn8542 vK973 S 9 116 108 vDKn6 v1074 S77767 vDKn1042 vEK5 S94326
+92 +1074 041724 ¢ EKD9 +¢64 O6 656 6 ¢ E9875 +102 048 9 106
#KKn98 #106 V41724 #9643 #Kn85 V66566 +D8 *4 V 489 106
485 4 D1032 453
v10 v E953 v 83
+ E863 + Kn85 + KDKn6
#D75432 »D7 #109653
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 18 BNN+2 v7 460 140 00|14 3 INV-2 «2 100 130 10| 2 11 4v V-1 2A 50 140 0.0
14 2 3NN+1 46 430 120 20|17 10 INV-2 v2 100 13.0 10|16 8 24 O+1 #T -140 120 2.0
11 3 3NN= a7 400 90 50|13 5 INV-1 *A 50 90 50|12 9 34 0+1 K -170 90 5.0
17 9 3NN= v7 400 90 50|16 8 INV-1 *2 50 90 50|13 5 34 O0+1 &T -170 9.0 5.0
8 12 24 N+2 v7 170 6.0 80| 1 4 140-= *7 -80 6.0 80|15 6 34 0+2 K -200 6.0 8.0
1 10 3NS-1 *9 -50 3.0 11.0| 2 11 INV= *A -90 20 12014 3 44 O= LX) -420 3.0 11.0
13 4 4NN-1 *T -50 30 11.0|12 9 INV= 2A -90 20 12017 10 44 O= +K -420 3.0 11.0
15 5 6NN-2 v3 -100 0.0 140|15 6 INV= *K -90 20 120 1 4 44 O+1 3 -450 0.0 14.0
16 - 8.8 18 - 7.0 18 - 7.0
19 410983 Basta kontrakt 20 4 E9 Basta kontrakt 21 « KD4 Basta kontrakt
Syd v K3 44 S D -2-300 Vast v 105 4¢ N =130 Nord v 10984 34 O =-140
oV + D1087 Alla ¢ EKn9 NS +3
#853 & ¢ v & NT #KKn7542 & ¢ v & NT #E10862 & ¢ v & NT
~ K6 & Kn5 N38286 «D1083 4 KKn762 N 10104 4 8 a72 «Knl08653 N 9 5 5 4 6
vE42 vDKn109876 S 3 8 2 8 6 vE97642 vKn83 S 10104 4 8 vEDKn5 v762 S955 46
49432 46 O 8 5 105 6 ¢ 74 ¢+ K8 022992 ¢ EDKn10 ¢ K95 037895
#EKNn42 #K106 vV 8 5 105 6 «D #1098 V22992 *K43 *5 V37895
4 ED742 454 4 E9
v5 vKD v K3
¢ EKKn5 + D106532 ¢ 87642
»D97 »E63 #DKn97
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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2 5 34S= vA 13.0 10|10 5& N = 600 130 10| 4 2NV -2 *2 4.0 0.0
10 12 34 S= vA 13.0 10|16 3NN= 600 13.0 10|18 le V+1 &8 20 20
6 13 44 S-1 vA 70 70|14 3v V-2 200 100 4.0]|15 3v 0= s A 00 4.0
14 4 44 S-1 v2 70 70| 2 34 N +1 130 60 80| 3 INV+2  »T 70 7.0
16 9 44 S-1 vA 70 70| 6 2% N +2 130 6.0 80|16 2NV +1  »8 70 7.0
17 11 44 S-1 vA 70 70|18 2¢ S+2 130 60 80|11 24 V+2 ¢33 4.0 10.0
18 8 44 S-2 vA 20 120| 3 3y V= -140 1.0 13.0|17 3NV = *6 20 120
3 12v0+3 +A 0.0 14.0|17 3y V= -140 1.0 13.0| 5 44 O = *7 0.0 14.0
15 - 7.9 15 7.9 13 7.4
22 & KKn842 Basta kontrakt
Ost v Kn986 7NT O =-2220
ov ¢ K53
»6
«ED5 49
vKD2 vE754
+87 ¢ EDKn10
#EK743 #Kn982
410763
v103
49642
#D105
Par Kontr Ut
4 2 4v0O-1 vT 0.0
15 8 24V +3 42 2.0
17 1 3NV +1 v6 4.0
5 14 3NV +2 #4 7.0
18 9 3NV+2 8 7.0
11 12 3NV +3 8 11.0
16 10 3NV +3 8 11.0
3 6 6NV= a2 14.0
13 -
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